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Rttp://130.149.60.45/~farbmetrk/TE59/TESOLONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/9

log AL luminance difference

threshold; AL= L - Lg=630cd/n?

y
0,40 KR 0,1s A
0,47 average

log AL luminance difference

threshold: ALz 1S Lg=630cdint

,40 BM 0,1s A
47 average

log AL luminance difference -
9% threshold: AL= L .~ Lg=630cdir?

y
0,40KR 0,1s Y
0,47 average

log AL luminance difference
threshold; AL=L -

Lg=630cd/n?
- Yy
A 440PO0,1s B
| Y 47 average
,19
,32

TES90-7N_1
TE590-7N

log AL luminance difference -
95" threshold: AL= L - Lgr630cdr?

log AL luminance difference
threshold; AL=L -

log AL luminance difference
threshold; AL=L -

log AL luminance difference
threshold; AL=L -

TE590-8N_1

TUB-test chart TE59; threshold daaramopolos (89)
tp=0,1s, 4 observers, average, E-A2-fit, 630&d/m

log AL luminance difference
threshold; AL= L -

Lg=630cd/nt
y

40 BM 0,1s R

/47 average

,19

log AL luminance difference

thrashold: AL= L Ce  Lg=630cd/t

A
--Y

log AL luminance difference -
9% thfeshoid: AL= L -~ Lg=630cdir?

i

log AL luminance difference

thrashold: AL= e Lg=630cd/

i

log AL luminance difference
threshold; AL= L -

A
| Y

log AL luminance difference
threshold; AL=L -

- Yy

A 40AD 0,1s A)Y
| Y 7 average
19

Lg=630cd/n?

i

log AL luminance difference
threshold; AL=L -

A
| Y

Lg=630cd/n?

i

log AL luminance difference
threshold; AL=L -

A
| Y

Lg=630cd/n?

i

input: w/rgb/cmyk —> w/rgb/cmyk
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Rttp://130.149.60.45/~farbmetrk/TE59/TESOLONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 2/9

log AL luminance difference -
9 reshold: AL L roc  LgF6sed?

y
0,40 KR 0,1s A '
0,47 average ‘

log AL luminance difference -
9o rechold: ALz T e Lg63cdin?

,40 BM 0,1s A
47 average

log AL luminance difference -
9o rechold: ALz T e Lg63cdin?

y
0,40KR 0,1s Y
0,47 average

log AL luminance difference -
9o rechold: ALz T e Lg=63cdin?

- Yy
A 440 PO 0,1s B
| Y 47 average

TE590-7N

log AL luminance difference
threshold; AL= L -

Lg=63c/n?

log AL luminance difference
threshold; AL=L -

Lg=63cd/n?

log AL luminance difference
threshold; AL=L -

Lg=63cd/n?

log AL luminance difference
threshold; AL=L -

Lg=63cd/n?

TE590-8N_2

log AL luminance difference -
- threshold; AL= L - L g=63cdinf

y
, 40 BM 0,1s R
/47 average
,19

log AL luminance difference -
9o Rrechold: ALz T e Lg63cdin?

log AL luminance difference -
9% threshoid: AL= L .~ Lg=63cdn?

log AL luminance difference -
9o Hreshold: AL= L : L9‘63°‘f’“¥

log AL luminance difference
threshold; AL= L -

log AL luminance difference
threshold; AL=L -

- Yy

A 40AD 0,1s A)Y
| Y 7 average
19

Lg=63cd/nf

log AL luminance difference
threshold; AL=L -

A
| Y

Lg=63cd/n?

log AL luminance difference
threshold; AL=L -

A
| Y

Lg=63cdn?

P

bas gnL \\

uoneledas ou ndino Ae|dsIp JO UaWaInsSeaw oy uonedidde
Sd’/ 1LX1'VYN0O16531/6G31-TOZ0ETOC -uonensl

TUB-test chart TE59; threshold da&aramopolos (89)

input: w/rgb/cmyk —>r
tp=0,1s, 4 observers, average, E-A2-fit, 63&d/m N 3 y 9




Rttp://130.149.60.45/~farbmetrk/TE59/TESOLONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 3/9

P

log AL luminance difference - log AL luminance difference - log AL luminance difference - log AL luminance difference
- threshold; AL= L - Lg=6 3C.dm% - threshold; AL=L - Lg=6 3c|d/"? - threshold; AL=L - Lg=6.3cdnt - threshold; AL= L -

y ) - y - y -
0,40 KR 0,1s A A
0,47 average | Y

bas gnL \\

log AL luminance difference - log AL luminance difference iy log AL luminance difference - log AL luminance difference Yy
e threshold; AL=L - "‘-31"6'30.‘”'712 2 threshold; AL=L - Lg_e'jc.dm% : threshold; AL=L - L g=6,3cdn g threshold; AL= L - Lg_ajc.d/n?

) - y ) - y - y
40 BM 0,1s A ' - A 40AD 0,1s A)Y
/A7 average | Y 7 average

19

log AL luminance difference - log AL luminance difference - log AL luminance difference Ny log AL luminance difference == 4
s threshold; AL=L - "9_6'30‘”'712 2 threshold; AL=L - Lg"G’SCdI"? 2 threshold; AL=L - Lg_e'jc.d/"? . threshold; AL=L - Lg_ajc.d/n?

y - y - y ) -
0,40KR 0,1s Y - A
0,47 average / | Y

uoneledas ou ndino Ae|dsIp JO UaWaInsSeaw oy uonedidde
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log AL luminance difference - log AL luminance difference - log AL luminance difference == 4 log AL luminance difference -
E threshold; AL=L - Lg_G'SCd/n% 2 threshold; AL=L - L9"6’3°d/"? 2 threshold; AL=L - Lg_e'jc.d/"? . threshold; AL= L - Lg=6 3C.d/n%

- Y - y - y ) -
A 440 PO 0,1s B - A
| Y 47 average | Y
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TE590-8N_3
TE590-7N

TUB-test chart TE59; threshold daaramopolos (89) input: w/rgb/cmyk —> rgly
tp=0,1s, 4 observers, average, E-A2-fit, 6,3&d/m
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Rttp://130.149.60.45/~farbmetrk/TE59/TESOLONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 4/9

log L/AL luminance contrast -
sensitivity threshold L g=630cdinf
T =L/AL
KR 0,1s A
J average

log L/AL luminance contrast
sensitivity threshold
T =L/AL
BM 0,1s A
§ average

log L/AL luminance contrast | _
. sensitivity threshold Lg=630can

T =L/AL
KR 0,1s Y

1 average

log L/AL luminance contrast -
- sensitivity threshold L g=630cd?
2T =L/AL
PO 0,1s B

| average

TES90-7N_4
TE590-7N

log L/AL luminance contrast -
sensitivity threshold L g=630cdinf
T =L/AL
PO 0,1s A
| average

log L/AL luminance contrast -
sensitivity threshold -g~630c¢/ rt
T =L/AL
AD 0,1s A
| average

log L/AL luminance contrast
sensitivity threshold
T =L/AL
AD 0,1s Y
| average

log L/AL luminance contrast | _
- sensitivity threshold Lg=630cdin?

T =L/AL
AD 0,1s B

} average

TE590-8N_4

log L/AL luminance contrast
sensitivity threshold

T =L/aL
BM 0,1s R

1 average
A
L 3 Y

log L/AL luminance contrast -

sensitivity threshold -g~630cd/ rt

T =L/AL
AD 0,1s G

| average

log L/AL luminance contrast | _
. sensitivity threshold Lg=630cain?

T =L/AL
AD0,1s AB

1 average

log L/AL luminance contrast | __
- sensitivity threshold Lg=630cdin?

T =L/AL
AD 0,1s A,G

} average

log L/AL luminance contrast | _
sensitivity threshold -g=630¢d

T =L/AL
AD 0,1s R

| average
A
L Y

log L/AL luminance contrast | _
sensitivity threshold Lg=630cd/n?
T =L/AL
ADO0,1s A)Y
1 average

log L/AL luminance contrast | _
: sensitivity threshold L g=630cdint

T =L/AL
AD 0,1s AR

1 average

log L/AL luminance contrast
sensitivity threshold
T =L/AL
KR 0,1s A)Y
J average

uoneledas ou ndino Ae|dsIp JO UaWaInsSeaw oy uonedidde
Sd’/ LX1'VN016531/653.L-TOZ0ESTOZ :uonensibal gn L

TUB-test chart TE59; threshold daaramopolos (89)
tp=0,1s, 4 observers, average, E-A2-fit, 630&d/m

00033010

input: w/rgb/cmyk —> rghy
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Rttp://130.149.60.45/~farbmetrk/TE59/TESOLONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 5/9

log L/AL luminance contrast  _
sensitivity threshold L g=63cdin?
T =L/AL
KR 0,1s A
1 average

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?
T =L/AL
BM 0,1s A
J average

log L/AL luminance contrast -
- sensitivity threshold -9=63¢%/ n?

T =L/AL
KR 0,1s Y

1 average

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T =L/AL
PO 0,1s B

TE590-7N

log L/AL luminance contrast , _
sensitivity threshold L g=63cdin?
T =L/AL
PO 0,1s A
1 average

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

AD0,1s A
4 average

log L/AL luminance contrast | __
: sensitivity threshold Lg=63cain?

T =L/AL
AD0,1s Y

} average

log L/AL luminance contrast | _
: sensitivity threshold Lg=63cd/n?

T =L/AL
AD 0,1s B

] average

TE590-8N_5

log L/AL luminance contrast | __
sensitivity threshold L g=63cdin?

T =L/aL
BM 0,1s R

log L/AL luminance contrast -

sensitivity threshold L g=63cdin?

T =L/AL
AD 0,1s G

1 average %
0,
L 3 0

log L/AL luminance contrast | __
: sensitivity threshold Lg=63cdin?

T =L/AL
AD0,1s AB

} average

log L/AL luminance contrast | _
" sensitivity threshold Lg=63cdin?

T =L/AL
AD 0,1s A,G

1 average

log L/AL luminance contrast Lg:63cd,ng \

sensitivity threshold

T =L/AL
AD 0,1s R

1 average
A
L Y

0
log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T =L/AL
ADO0,1s A)Y
4 average

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

=L/AL

AD 0,1s AR —

| average /

7

log L/AL luminance contrast | _
: sensitivity threshold Lg=63cdin?

T =L/AL
KRO,1s A,Y

1 average

uoneledas ou ndino Ae|dsIp JO UaWaInsSeaw oy uonedidde
Sd’/ LX1'VN016531/653.L-TOZ0ESTOZ :uonensibal gn L

TUB-test chart TE59; threshold da&aramopolos (89)

input: w/rgb/cmyk —>r
tp=0,1s, 4 observers, average, E-A2-fit, 63&d/m put. wirgb/cmy oy
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Rttp://130.149.60.45/~farbmetrk/TE59/TESOLONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 6/9

log L/AL luminance contrast | _
sensitivity threshold L g=6,3cdin?
T =LIAL
KRO0,1s A
} average

log L/AL luminance contrast
sensitivity threshold
T =L/AL
BM 0,1
§ average

log L/AL luminance contrast | _
- sensitivity threshold Lg=6,3cd/n?

T =L/AL
KR 0,1s Y

1 average

log L/AL luminance contrast | _
sensitivity threshold L g=6.3cdin?

T =L/AL
PO 0,1s B

TE590-7N

log L/AL luminance contrast Lg6 3cdin?

sensitivity threshold

T =L/AL
PO 0,1s A
1 average >

<> .
[=k=k=X=1ZE =
<

S

No

rwikhs
AN O

NUOIR DW=
(SRR RORS
comoa

log L/AL luminance contrast Lg6 3cdin?

sensitivity threshold

T =L/AL
AD 0,1s A
1 average

log L/AL luminance contrast Lg6 3cdin?

sensitivity threshold

T =L/AL
AD 0,1s Y
1 average

log L/AL luminance contrast Lg6 3cdin?

sensitivity threshold

T =L/aL
AD 0,1s B

TE590-8N_6

TUB-test chart TE59; threshold daaramopolos (89)
tp=0,1s, 4 observers, average, E-A2-fit, 6,3&d/m

log L/AL luminance contrast
sensitivity threshold

T =L/aL
BM 0,1s R

1 average
A
L Y

log L/AL luminance contrast | __
sensitivity threshold L6 3cain?

=L/aL

AD 0,1s G

1 average X
A0

1 Y O
(0]

(0]

1 0

log L/AL luminance contrast | _
sensitivity threshold L6 3cain?

=L/aL

AD 0,1s A;B
1 average

log L/AL luminance contrast
sensitivity threshold
T =L/AL
AD 0,1s A,G
| average

input: w/rgb/cmyk —> rghy

log L/AL luminance contrast Lg6 acdint |

sensitivity threshold

T =L/AL
AD0,1s R
| average

log L/AL luminance contrast | _
sensitivity threshold Lg=63cdint
T =L/AL
ADO0,1s A)Y
1 average

log L/AL luminance contrast , _
- sensitivity threshold L6 3cdint

T =L/AL
AD 0,1s AR

1 average

log L/AL luminance contrast , _
: sensitivity threshold L g=6 3cdin

T =L/AL
KRO0,1s AY

1 average

uoneledas ou ndino Ae|dsIp JO UaWaInsSeaw oy uonedidde
Sd’/ LX1'VN016531/653.L-TOZ0ESTOZ :uonensibal gn L
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Rttp://130.149.60.45/~farbmetrk/TE59/TESOLONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 7/9

L/AL luminance contrast
sensitivity threshold

4071 X _ Y
A 0,34 0,40KR 0,1s A
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T < 0,25

Lg=630cd/n?

TE590-1N_7
L/AL luminance contrast
sensitivity threshold
40T X Y =L/AL
A 0,34 0,40 BM 0,1s A
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,
20T < 0,250,

Lg=630cd/n?

TE590-3N_7
L/AL luminance contrast
sensitivity threshold
40T X Y =L/AL
A 0,34 0,40 KR 0,1s Y
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T © 0,25

Lg=630cd/n?

TE590-5N_7
L/AL luminance contrast
sensitivity threshold
40T X Y =L/AL
A 0,40 PO 0,1s B
Y 0,47 average

0,34
0.45
30T 015019
0,58
0.25 /

,58 0,32
20+ 0
TE590-7N

Lg=630cd/n?

44

L/AL luminance contrast
sensitivity threshold

4071

30 -

201

Lg=630cd/nt
=L/AL

L/AL luminance contrast
sensitivity threshold

4071

30 -

201

L/AL luminance contrast
sensitivity threshold

4071

30 -

201

Lg=630cd/n?
=L/AL

L/AL luminance contrast
sensitivity threshold

4071

30 -

201

Lg=630cd/n?
=L/AL

TE590-8N_7

L/AL luminance contrast
sensitivity threshold

40T y =L/AL

Lg=630cd/nt

30--

201

TES91-1N_7

L/AL luminance contrast
sensitivity threshold

401 X Y

A 0,340,40AD 0,1s G

30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,3

20T < 0,2504

1

y 2
4

TES591-3N_7

L/AL luminance contrast
sensitivity threshold

40T X =L/AL

y -
A 0,34°0,40 AD 0,15 A,B |/
1 Y 0,45 0,47 average \
30T 015019 .08,
0,58 {
0,25

1501 :
3 o
2 /

g 7

Lg=630cd/n?

)

201

L/AL luminance contrast

sensitivity threshold Lg=630cain?

40T =L/AL

[ |
30+ Kl
; 250

201

L/AL luminance contrast
sensitivity threshold

40T

30 -

20

L/AL luminance contrast
sensitivity threshold

4071 y
40 AD 0,1s A)Y

1l A7 average
30 19

4
3
201 p

TES91-4N_7

L/AL luminance contrast
sensitivity threshold

401 X Y
A 0,34 0,40 AD 0,1s AR
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,32
20T < 0,250,44

L/AL luminance contrast
sensitivity threshold

40T

30 -

20

A

Lg=630cd/n?
=L/AL

P

bas gnL \\

uoneledas ou ndino Ae|dsIp JO UaWaInsSeaw oy uonedidde
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TUB-test chart TE59; threshold daaramopolos (89)
tp=0,1s, 4 observers, average, E-A2-fit, 630&d/m
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Rttp://130.149.60.45/~farbmetrk/TE59/TESOLONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 8/9

L/AL luminance contrast
sensitivity threshold

4071 X _ Y
A 0,34 0,40KR 0,1s A
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T < 0,25

Lg=63cd/n?

TE590-1N_8
L/AL luminance contrast
sensitivity threshold
40T X Y
A 0,34 0,40 BM 0,1s A
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T < 0,25

Lg=63gfin?

TE590-3N_8
L/AL luminance contrast
sensitivity threshold
40T X Y
A 0,34 0,40 KR 0,1s Y
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T © 0,25

Lg=63cd/n?

=L/AL

TES90-5N_8

L/AL luminance contrast
sensitivity threshold

4071 X Y
A 0,34 0,40 PO 0,1s B
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,32
20T < 0,250,44

Lg=63ca/n?

=L/AL

TE590-7N

L/AL luminance contrast
sensitivity threshold

4071

30 -

201

Lg=63cin?

L/AL luminance contrast
sensitivity threshold

4071

30 -

201

Lg=63cin?

L/AL luminance contrast
sensitivity threshold

4071

30 -

201

Lg=63cd/n?
=L/AL

L/AL luminance contrast
sensitivity threshold

4071

30 -

201

Lg=63cd/n?
=L/AL

TE590-8N_8

L/AL luminance contrast
sensitivity threshold

40T X Y =L/AL
A 0,34 0,40 BM 0,1s R
30+ Y 0,45 0,47 average

0,15 0,19

0,58 0,3
20T < 0,250,4

Lg=63cd/n?

1

1

[

2
4
1 o 1 5 x=logl

L/AL luminance contrast
sensitivity threshold

40T X Y =L/AL
A 0,34 0,40 AD 0,1s G
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0

20T < 0,250

Lg=63cd/n?

1

TES591-3N_8

L/AL luminance contrast
sensitivity threshold

407 X
A 0,340
Y 0450
30T o150
0,58 0

201 0250

y

,40 AD 0,1s A,B
/47 average
,19

1 \ 4
,32 i
A4 !
]
1

é x=logL

1

TE591-5N_8

L/AL luminance contrast
sensitivity threshold

407 X
A 0,34
Y 0.45
30T 015
0,58

201 025

Lg=63cin?

y
0,40 AD 0,1s A,G
0,47 average
0
0

1

,19 2

4
1
32 /
07 '
>|

1

[ - ]
03 > -1 o 1 2 x=logL

TE591-7N_8

L/AL luminance contrast
sensitivity threshold

40T

30 -

20

L/AL luminance contrast
sensitivity threshold

4071 y
40 AD 0,1s A)Y

1l A7 average
30 19

4
3
204 4

TES591-4N_8

L/AL luminance contrast
sensitivity threshold

401 X Y
A 0,34 0,40 AD 0,1s AR
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,32
20T < 0,250,44

TES591-6N_8

L/AL luminance contrast
sensitivity threshold

401 X Y
A 0,34 0,40 KR 0,1s A,Y
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,32
20T < 0,250,44

Lg=63cd/n?

P
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TUB-test chart TE59; threshold daaramopolos (89)
tp=0,1s, 4 observers, average, E-A2-fit, 63&d/m
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Rttp://130.149.60.45/~farbmetrk/TE59/TESOLONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 9/9

L/AL luminance contrast

sensitivity threshold ~ -976:33%/ nf

4071 y
0,40KR 0,1s A

0 34
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T < 0,25

TES90-1N_9

L/AL luminance contrast

sensitivity freshold  Lg=6:30d/nf

4071 y
0,40BM 0,1s A

0 34
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T < 0,25

TE590-3N_9
L/AL luminance contrast
sensitivny threshold
40T y =L/AL
034040KR015Y
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T = 0,25

Lg=6,3cd/n?

TE590-5N_9
L/AL luminance contrast
sensitivny threshold
40T y =L/AL
0 34 0,40 PO 0,1s B
30+ Y 0,45 0,47 average
0,15 0, 19
0,58 0,3
20T 0,250

Lg=6,3cd/n?

,44

TE590-7N

L/AL luminance contrast
sensitivity threshold

4071

30 -

201

Lg=6 3d/n?

L/AL luminance contrast
sensitivity threshold

407
/40 AD 0,15 A

30+ g average

201

L/AL Iuminance contrast
sensitivity threshold

4071

30 -

201

Lg=6.3cd/nf
=L/AL

L/AL Iuminance contrast
sensitivity threshold

4071

30 -

201

Lg=6.3cd/nf
=L/AL

TE590-8N_9

L/AL luminance contrast
sensitivity threshold

407
,40BM 0,1s R

30+ g average

201

Lg=6,3cd/nf
=L/AL

TES91-1N_9

L/AL luminance contrast
sensitivity threshold

401 X
0,34 0,40 AD 0,1s G
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,3
20T < 0,2504

1

y 2
4

Lg=6.3cd/nf
=L/AL

TES591-3N_9

L/AL luminance contrast
sensmwty threshold

407
0.340

Y 0450
30T o150
0,58 0

201 0250

,40 AD 0,1s A,B
/47 average

,19
3
4

1

2
4

Lg=6.3cd/n?

L/AL Iuminance contrast
sensitivity threshold

407
40 AD 0,15 AG

30+ /AT average

201

Lg=6.3cd/nf
=L/AL

L/AL luminance contrast
sensitivity threshold

4071 y
,40 AD 0,1s R

30+ 47 average

20

L/AL luminance contrast
sensitivity threshold

4071 y
40 AD 0,1s A)Y

1l A7 average
30 19

4
3
204 4

Lg=6.3cd/nf

TES591-4N_9

L/AL luminance contrast
senS|t|V|ty threshold

4071 y
0 34 0,40 AD 0,1s AR
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,32
20T < 0,250,44

Lg=6.3cd/nf
“LiAL

TES591-6N_9

L/AL luminance contrast
sensmvny threshold

4071 y
0 34 0,40KR 0,1s A)Y
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,32
20T < 0,250,44
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TUB-test chart TE59; threshold da&aramopolos (89)

input: W/r b/cmyk —>r
tp=0,1s, 4 observers, average, E-A2-fit, 6,3&d/m N 3 y 9




